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Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.
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Candidates must write their Roll Number on the question paper.
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Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instruction :
(i) &# g7 S 8
All questions are compulsory.
(i) &l T Y FAe-grTEr 7 [regy

Write correct answer in your answer-book.
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(2) 5503/(Set : C)

1. HEA 196 HI UMY TS & OB & @Y H FHK BT 1
Express 196 as a product of its Prime factors.

2. 36 3R 78 @ HCF F41 &FT ? 1
What is HCF of 36 and 78 ?

3-@%@3%%,%%@%%@@%%&1:1@?%% 1

Find the quadratic polynomial, the sum and product of whose zeroes are 1 and

1 .
2 respectively.

4. K & o A & for, et 3Ree Tl x+y+7=0 SR 3x+Ky+5=0 & JH @
T SfEdy & § 7 1

For what values of K does the Pair of linear equations x+y+7=0 and
3x+ Ky +5 =0 has unique solution ?

5. K& 5 99 & o fau @il x2 + Kx+4=0 & 99 TWER ¢ ? 1
For what values of K, quadratic equation x? + Kx +4 =0 has equal roots ?
6. AP.7,13,19 .......... F 1137 T 1 B 1
Find 11th term of A.P. 7, 13, 19 .......... .
7. & E oM ¥ DE||BC, @ DB &I @aE 5 B A 1
1.2 cm, 1.8 cm
In given figure DE || BC, find length of DB. b B
5.4 cm
B C
8. qﬁcosA:%,a‘rtanAesrrrﬁrmﬁzrﬁﬁm 1
12
If cosA= 3 find the value of tan A.
210" o i 1
1+ tan“45°
Find the value of %.
1+ tan” 45°
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11.

12.

13.

14.

15.

16.

17.

18.

19.

(3) 5503/(Set : C)
6 T B30T a1 T 9 & 0@ FUETS H A6 1 P, RTEeE S0 60° & 1

Find the area of a sector of a circle with radius 6 cm, if angle of the
sector is 60°.

qﬁﬁﬂﬁwgi—zs%@wwaﬁ%mmﬁm| 1

Whether the Rational number

will have a terminating decimal

expansion or non terminating repeating decimal expansion.

faaa i x2 + 7x - 60 =0 @& Qe sMd ST 1

Find discriminant of quadratic equation x2 +7x-60=0.

T A 13, 15%, 18, 20%, ........ P T8 ST ST A 1

Find the common difference of A.P. 13, 15%, 18, 20%, ......... .

AP.2,7,12,17, ......... % 999 10 G& & I S BT 1
Find the sum of first 10 terms of A.P. 2, 7, 12, 17, ............

T o B Bl (F78Y,/ T TTH) 1
All circles are .............. (Similar/ Congruent)
T G B covrrennnnn TR WIRE & Fdl gl 1
A circle can have ............. parallel tangents at the most.

g 1 IEH W@ & IS g A Fed 1
The common point of a tangent to a circle and the circle is called ........... .
fargalt (0, 0) AR (-6, 8) % = & T A BT 1

Find the distance between the points (0, 0) and (-6, 8).
sin% 0+ cos? 0 W AM = ..o, 2 2 1

The value of sin®0+cos?0 = .............
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(4) 5503/(Set :
20. 7R P(E)=0.03,q PE ) & 99 F1 & ?
If P(E)=0.03, what is value of P (not E) ?

21. fHRag § § SH-9 9 ouiag & ?

A) 24 B) 9 (C) 2++/3 (D) 2++4
Which of these is an irrational number ?
A) 244 B) 9 (C) 2++/3 (D) 2++4
22. fEHM 980 3x2 -x -4 & IR B PEEA 1T :
-3 1 -4 4
A) — B) = c) — D) —
(A) 2 (B) 3 \®) 3 (D) 3
Product of zeroes of quadratic polynomial 3x%2-x-4 is:
-3 1 -4 4
A) — B) — c) — D) —
(A) p (B) 3 \®) 3 (D) 3

23. fEE GHHCT & FH x -2y +3=0 T 3x—6y+9 =O0FH & BT :

(A) A& T B (B) I3 & T
(C) JURREE 3% & (D) FH & B Tl
The pair of linear equations x -2y +3 =0 and 3x-6y+9 =0 has solution :
(A) Unique solution (B) No solution
(C) Infinitely many solutions (D) None of these
24. T § H- fud aieR &R ?
A) (x+12=2(x-3) B) x2-2x=-2(3-x)
(C) x%2-3x=10 (D) x2+3x=(x-2)°

Which of these is not a quadratic equation ?
A) (x+1 =2(x-3) (B) x?-2x=-2(3-x)

(C) x?-3x=10 (D) x2+3x=(x-2)°
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25. fEEM @HHOT 3x° —~x-4=0 &% Yo B 1
4 4 ~4 ~4
A -1,— B 1,— C) -1,— D) 1,—
(A) 3 B) 13 (€ 3 (D) 3
Roots of the quadratic equation 3x%2-x-4=0are :
4 4 -4 -4
A -1,— B 1,— c) -1,— D) 1,—
® -1 B 17 © -1 D) 1
26. =8 § HH-d A.P. R ® ? 1
A 1,3,9,27, ......... B) -7,-4,-2,0, ..........
(C) 0.6,1.7,2.7,3.9, ccceenven.en D) a, 2a, 3a, 4a, ............
Which one is A.P. series ?
(A 1,3,9,27, ......... B) -7,-4,-2,0, ..........
(C) 0.6,1.7,2.7,3.9, ccconennen. (D) a, 2a, 3a, 4a, ............
27. AABC dR ADEF G9&U B9 81 39 THEUr & $HIF-81 HAC Jam erft ? 1
C E
30° 60°
60° 30°
A B D F
(A) S.S.S. B) S.A.S.
(C) A.A.A. (D) T 9 %5 -l
AABC and ADEF are similar. Which similarity criterion is used ?
C E
30° 60°
60° 30°
A B D F
(A) S.S.S. B) S.A.S.
(C) A.A A. (D) None of these
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29.

30.

31.

32.

(6) 5503/(Set : C)
5 & Brear 9l T g9 & g P W W@l PQ &= O § S amil Th @l ¥ g Q W
39 YR el & 5 0Q = 12 84l PQ &1 s # : 1
(A) 12 @@ (B) 13 @ (C) 8.5 a (D) 119 &

A tangent PQ at a point P of a circle of radius 5 cm meets a line through the
centre O at a point Q so that OQ = 12 cm. Length PQ is :

(A) 12 cm (B) 13 cm (C) 8.5cm (D) +119 cm

!Ti%@i%lgpﬁo%aa@rﬁmﬁaawmawmwﬁamwsm%ﬁwwaﬁ
&, @ |[POA T B :

(A) 80° (B) 50° (C) 60° (D) 70°

If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 80°, then | POA is equal to :

(A) 80° (B) 50° (C) 60° (D) 70°
Rrgalt (-2, 5) & (4, -3) # FeM am YEEE & w6 g & il § 1
(A) (1, 1) B) (2,2) € 2, 1) (D) (1,2)

Co-ordinates of mid-point of line joining two points (-2, 5) and (4, -3) are :

(a) (1, 1) B (2,2 © (2,1 D) (1,2)
X8 I R faeg & Fdaries 8 1
(A) (% 0) B (Y (©) (0, y) D) (0,9

Co-ordinates of any point of x-axis are :

(A) (% 0) B) (% y) € ©,y (D) (0, x
T fog & fewi® © 1
A) (% ) (B) (x, 0) € ©,y (D) (0, 0)

The co-ordinates of origin are :

A Yy (B) (x 0) € 0,y (D) (0, 0)
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33. I9 Of B A T B Forel Brewr 3 & dor SR 7 AW s 7 1
(A) 21m q4r° (B) 22rn a¥®
(C) 66m TH® (D) 44n I3
The volume of a cone, whose radius 3 cm and height 7 cm is :
A) 21lmem?® (B) 22ncm?
(C) 66mcm?® (D) 44ncm?®
34. gq & A qA1 B F o UH GE © ¢ 1
(A) B =2 x| (B) &M =2 x B4
(C) B ==y (D) =¥ = %'TET
The relation between diameter and radius of a circle is :
(A) Radius = 2 x Diameter (B) Diameter = 2 x Radius
(C) Radius = Diameter (D) Diameter = Radius
35. UF ot H BT 4 GHI R, O SHH YT %A BN 1
A)  16maH? (B) 32n qHi?
(C) 48n {Hi? (D) 64rn TH>
The surface area of semicircle, whose radius is 4 cm :
(A) 16mcm? (B) 32mcm?
(C) 48mcm? (D) 64mcm?
36. gq % URMY AR A H AIUC & : 1
(A) 2:m B 1:1 G m:1 D) 1:2=m

The ratio of circumference and diameter of the circle is :

(A) 2:m B 1:1 G =m:1 D) 1:2=m
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37. fyefafad sifwst & e a4 & ? 1
2,4,6, 8,10
(A) 6 (B) 7 € 8 (D) 4
What is mean of the following data ?
2,4,6, 8,10
(A) 6 B) 7 € 8 (D) 4
38. faq fiss! &1 agaeh a1 e ¢ 1

3,2,5,0,4,3,4,2,4
(A) 2 (B) 3 (€) 4 (D) 5

What is mode of the following data ?
3,2,5,0,4,3,4,2,4

(A) 2 (B) 3 € 4 (D) 5

39. T @ FN-8 "em Bl e I w787 & el ? 1
(A) % (B) 15% (C) 0.75 (D) -1.5
Which of the following cannot be probability of an event ?
(A) % B) 15% (C) 0.75 (D) -1.5

40. el T H TEEA oo T 6D TOEK B & TN e q B A
IG& TR B 8l 1
(A) 1,-1 (B) 0,1 © 1,0 (D) -1,0
The probability of an event is greater than or equal to ............. and less than
or equal to ............... .
A 1,-1 B) 0,1 ) 1,0 (D) -1,0
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